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O0k0000000O0O0,2z00000000000
ooooooo

>z
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00D0000D0 (6.2)00000000,00 z(t),0
000000 ¢t000000000000000000
00000000000000000,0000000
000000*0000000000,0000000
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gooo0O0OobooOO,00,00000000O0000000
0,000000000,0000000o00O00000O00
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0o0,0=0000000000

*2000000000000000000000,00,0000
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z(t) = Acoswt (6.3)

000 A0 wO00OO0OO0O0O0O0OO0O0O000D00000wO
gogobobboooobboooooobob,bbbod
wODOOOOOOOOOOOoOOoOo (6.3)0Do0oOOo, o
62000000000000000000000DOAO
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ooo,000000:

00D0DwDOOOTOOO
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T =" 4
- (6.4)
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00000000000000000MO000000
00000000,Hz0000000000000(

00,0 (63)00 (62)000000000000

00D00000,0 (6.3)00 (62)000000000

000,0(62)0000

— Aw? coswt (6.6)
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203 cos? 0

(5) 0ODO0DDOO0OD,00 2, 00 y00OODOODOODOO
goobooboobooo

(6) D0DO0D0DO0DOUDOOUDODDOOD 2000 XO
goo,0o0oogo
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0?0000 kg000O0O0OODOOOOODODOOOOO
00?000000 15mO0000000000 200
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000000000 r(0) = (0,00000, |[v(0)] = v
0,v(0)0 x0000000600000000, v(0)=
(vocos,vpsind)0 (2) 000000000000, O
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oooooooo,boo0o0bDo00oobobog
gooboooboooooooo,bobo0o0cbooooaa,
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gooooobobboooboboo,0oooobobog
goooobooo,oo0oboboboon:

- ooooo ~
000 ¢0000000,0F()OO00O,

t1
/ Fdt
to

O,00¢p 00 00000000000000

(9.11)

/

e 1128 ODODODODODO SOODODOOOODOO

oooo,0 (9.10)0,01 00000000000
0,0o000ooooocooooooooooobo 100
ubooboooooboooooboogooo,oboooon
oobO,0000000000C00D000O0

000000 154 08O00O00OODODO0OODOOOOOD
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ma(vy —va) = —mp (v — vB) (9.28)
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e 0134 013300000000
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ma — mp 2mpy
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vy = vB (9.35)
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(2) 0(9.31)0000,0 (9.28)00 v, 000000
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, mp — Ma 2ma
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(3) ma=mp0O00,00000:

vy =B 9.37

U = vA (9.38)
(4) ma>>mp000,00000:

UNEEUN (9.39)

v = —vp + 2va (9.40)
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|v1] = efvol (9.42)
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oono

v? = 2ghy (9.43)
(4)0ooooo
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() 0000000000, 0D00000D000DOO
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gobo,0o00000
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(6)e=08 hy=10mO00,0000000 0.1m
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e 0136 20000DO0O,00000D00OODOODOO
ooo,00 AR000000OO0CO0OOOOOOOOO,
0ooo0000o0oUooooooO00o0oOo Aooo, oo
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(2000 ADDDOOOOODOOOOO0000,00
0BOOODOOD AODDOOOOOOOOOO 9500
00000000 AQOOO0ws,000BO0OOO vp
0DoO0o0ooo0oO0:

(9.46)
(9.47)
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VB = —7?o

(3)D0000,000BOOUODAODUOOOODO
000 9500000000000 BOOOO vz O
cooocooooocoobooo,00000b000000
ooboo,000b0o00b0oooooooobooobooon
0000000000 (940)00000000O0O,00
oo0:

vp = 3w (9.48)

(4000 BO,000A0D0C0O0DOOODOODODOO,
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oov?
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000,000300000000000,0000
0000000000000, n000000000
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000,00,0000000 mg, ts, ve 000000
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000 F,;0,0000,00 k(0007000000
000000 k0000000000000 OOO0OO
000, Fy 0O0OO0O0OO0ODOOOO0,0000000
Ooo0Ooo000,00000 Fyp,=00000000,
F; 0,00 k000D00000O0O00DOOO,0960,
jJooooooOooOoOO0O00000O0O0:

+ Fkn + Fz

(9.49)
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F F
21
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F, F° a2
Br1 F . K.,
e
F, F,

096 OO0OOOOCOO

00,00 A0000,0 (910000000,

ty
mavi(ty) — mivi(te) = / Frdt (9.50)
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gobooooboo,bbooboobboob,

t1
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to
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00000, 0 (949) 0000,
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k, j0000000000000,000,F, 0 Fjy
000000,000000000000000000
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kavk t1) kavk to) = /(ZFe)dt

(9.54)

0000000000 1000 200,000000
t,00 t, 00000000,00000 000 ¢ 0
00,00000000000000000,0 (9.54)
0,000000000,0000000000000
00000000000000,0000000000
0000000 0000,00,0000000000
0000,00000000000000000000
oooooo
000000000000000000000000
000000000 ROO (919000000000
0000 t¢0000,000000VOO0OO,

V= Zk 1 MEVE
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000000,00000000 MOO000
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M= "my (9.56)
k=1

000,0 (9550000 MOOOOOOODOO0OO
oo,

> mave =MV (9.57)

k=1
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to k=1
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gobooboooboboooboboo,obooobgoo
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